NS ZE R B M A (201 7454 H H1)
PE % 4 (K (BAER A B

% b % en [ [ [ [ o el maBt [/ || e ] oo
% —o—DI 28/4] 9.1]-28.6]-19.5 5 —o—DI 28/4|  2.1|-18.4|-16.3
% 50 8.1]-29.1]-21.0 2 50 1.9]-23.0[-21.1
" 6 6.9]-30.1]-23.2 . 6| 1.8/-21.6/-19.8
71 7.2|-27.8]-20.6 71 2.3]-18.7]-16.4
8| 7.8/-28.7|-20.9 8| 2.2/-19.5|-17.3
9| 6.6/-29.6|-23.0 9| 1.9/-20.5/-18.6

10|  7.1)1-28.3]1-21.2 10/ 1.8]-19.2|1-17.4

11 9.2)1-25.7]1-16.5 11/ 2.8]-18.8]-16.0

12| 11.11-23.2|1-12.1 12| 3.5|-15.2|-11.7

20/1|  7.6|-29.5|-21.9 20/1]  2.1]-17.6]-15.5
ol 7.3|-27.2]-19.9 30 ol 2.0]-18.3]-16.3
3| 9.0]-25.9/-16.9 3| 2.5|-17.9(-15.4
0 28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 -3 4 9'5 722‘9 713'4 0 28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 -3 4 3.0 716'4 713'4
[EZ2za B B2z
5 g g _%?I;t E/)] | hffE | Bk | DI N EROER _;._zg%b E/)] | hfdE | Bk | DI
. 28/4] 4.3]-25.2] -20.9 . 28/4]  4.3]-27.7|-23.4
5| 3.6|-27.3]-23.7 5| 4.0/-31.3]-27.3
B 6| 3.2|-27.7|-24.5 0 6| 3.2/-30.5|-27.3
7| 3.5|-25.5]-22.0 7| 3.7]-26.3(-22.6
! 5 .1 8| 4.0/-26.1]-22.1 0 ; ; 8| 3.9]-29.0[-25.1
4 . . 9| 2.7/-26.0]-23.3 | . 9| 3.2-28.5|-25.3
ﬁ A 10| 2.8{-24.9-22.1 10 A 10| 3.3]-27.1{-23.8
f % % 11] 4.2 -24.2]-20.0 7 % 11| 4.6/-26.5-21.9
; 7 7 12| 5.4/-20.4]-15.0 20 7 12| 6.2]-23.7]-17.5
= 20/1] 3.4 -24.1]-20.7 20/1| 4.5/-25.7]-21.2
ol 3.2|-24.4|-21.2 e ol 4.1]|-24.7]-20.6
3| 3.8|-22.6/-18.8 “ 3| 4.7]-24.9]-20.2
s 5 6 7 5 s 10 1 12 21 2 3 4 s 4] 4.5]-21.9]-174 8/4 5 6 7 8 9 10 1 12 201 2 3 4 gg 4] 4.8]-21.8]-17.0
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-13.5
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—-15.5

7.2

—22.7

—-15.5

7.4

—23.9

—-16.5

6.6
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—-14.7

5.7

—22.2
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8.3
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3.4

—24.2

—20.8

3.0

—28.7

—25.7

3.9

—23.1

—-19.2

3.7

—22.8

—-19.1

3.0

—21.6

—-18.6

2.4

—21.6

—-19.2

4.4

—21.6

—17.2

5.0

—-17.4

—-12.4

2.7

-17.7

-15.0
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—-20.0

-16.6
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3.6

—22.9

-19.3

2.7

—26.3

—23.6

2.8

—25.1

—22.3

2.7

—-25.0

—22.3

4.2

—21.3

—17.1

5.5
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-13.5

3.5

-19.7

—-16.2

3.8

—20.2

-16.4
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% t % =B | [eesn [aom [ | o BEBY ey e Lw [ e o
% ==t 28/4| 7.5/-18.4|-10.9 0 B il 28/4] 1.2|-17.4|-16.2
5| 11.3|-14.4] -3.1 5| 1.4[-17.8|-16.4
6] 6.4]-20.0/-13.6 10 6] 1.4|-18.3/-16.9
7| 83|-18.1] 9.8 7| 2.2|-15.6|-13.4
8| 9.2|-22.3]-13.1 8] 1.2|-17.0/-15.8
9| 7.3|-15.9] 8.6 9| 1.7]-16.1|-14.4

10| 5.9]1-22.8|-16.9 10/ 1.5|/-18.8|-17.3

11/ 10.1/-18.2] 8.1 11 2.71-16.2|1-13.5

12| 13.9|-16.1] -2.2 12) 3.2|-13.6/-10.4

]

29/1]  7.0/-17.2|-10.2 29/1| 1.9]-14.2|-12.3
2| 7.2|-18.6]-11.4 =30 2| 2.4]|-12.2| 9.8
3| 7.7]-15.9] -8.2 3| 2.5(-17.3|-14.8
-40
wn 5 5 7 5 5 0w w2 3 4. 4] 8.7]-14.5| -5.8 ma s s 7 s 8 w0 10w om0 2 5 4, 4] 2.9]-13.2]-10.3

ez E L

® B i /0 | et | B4k | b ¥RNDER /0 | et | B4k | b
% —= 28/4| 3.2|-27.8|-24.6 0 28/4| 2.7/-22.9|-20.2
5 3.9(-22.6] -18.7 5 4.9]-21.1[-16.2
6 3.0(-29.1] -26.1 [ 2.5[-24.01-21.5
. 7 4.3]-23.0[-18.7 7 3.8/ -19.8]-16.0
? 8 4.5]-24.3[-19.8 8 3.0(-24.7| -21.7
%
9| 3.1]-21.7|-18.6 9] 3.6[-24.5[-20.9
10| 1.9]-24.3]-22.4 2.9] ~25.8] -22.9

R

4.5[-24.8] -20.3 11 5.4)-21.11-15.7

—
-

12|  6.11-18.0]1-11.9 12| 7.11-20.4]-13.3

=

29/1| 2.9]-20.1[-17.2 29/1| 3.5|-21.0[-17.5

2 3.5[-17.4[-13.9 =30 2 3.3[-16.1[-12.8
3 3.2[-23.3[-20.1 3 3.5[-21.0[{-17.5
28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 4 2.9]1-19.9]-17.0 0 28/4 5 6 7 8 9 10 11 12 291 2 3 4 4 3.3]1-18.9]-15.6

-3 %A
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12| 4.51-19.8|-15.3

12| 0.71-19.11-18.4

e
pal )

o 22z > - . = ez B AL .
& L %8 —m /0 | i | Wb | DI BEERY i /0 | s | Bk | DI

02 —O=DI 28/4| 7.21-23.3]-16.1 o B =O=DI 28/4| 3.2/ -23.5|-20.3

5[  4.9/-26.9]-22.0 5 1.3]-21.8]-20.5

I 6| 5.9]-25.0{-19.1 6 1.1 -23.8] -22.7

- ! 7 3.1]-32.8] -29.7 0 g 7 1.8 -26.5| —24.7

f ; 8| 2.5[-24.2|-21.7 7 8| 0.8[-20.3|-19.5
4 fe

; % 9 3.5|—23.7] -20.2 g 9 1.6/-20.7]-19.1

é ﬁ 10 3.5[-25.0[-21.5 -10 5 10 0.4[-19.0[-18.6

. . 11| 3.0[-25.4|-22.4 § 11| 1.2/-19.5/-18.3

7

., 29/1] 2.7[-20.7|-18.0 -20 29/1] 0.4[-17.5[-17.1

7 2| 4.4[-26.4{-22.0 2| 1.4[-15.5[-14.1

3] 6.4[-21.9[-15.5 - 3] 1.5[-15.2[-13.7

wa s 5 7 5 5w 0w w2 5 4 an 4 3.51-25.9]-22.4 A 5 8 7 8 9 1 1 12 21 2z 3 4 h 4 1.7]-18.6{-16.9
/A | g | B4k | DI EROXR /A | s | B4k | DI

o 2 28/4| 5.4|-25.9|-20.5 0 2 28/4| 3.1{-23.1]-20.0

5| 1.7(-29.1{-27.4 5| 2.5[-31.8[-29.3

. - 6| 1.5[-29.5[-28.0 6] 2.2(-26.3]-24.1

Z 7] 2.6/-32.5[-29.9 é 7] 3.0[-33.9[-30.9

5 8| 1.1{-22.0]-20.9 é 8| 0.8]-26.7|-25.9

-0 ] é 9] 2.3]-22.0]-19.7 é 9] 0.4[-24.1|-23.7

% 10 1.6/-22.6[-21.0 ; 10| 0.8]-26.4[-25.6

20 7 1] 1.9/-22.6/-20.7 é 11| 1.9/-27.7/-25.8

12| 1.1]-21.1{-20.0 12| 1.4/-22.9[-21.5

o 29/1] 2.0[-16.8]-14.8 29/1] 1.2[-22.4[-21.2

2| 2.8[-23.9]-21.1 2| 2.1[-26.6|-24.5

3] 2.1/-20.2[-18.1 3] 2.5[-21.6[-19.1

. 8/4 5 6 7 8 9 10 11 12 291 2 3 4 4] 2.01-20.7]-18.7 - 28/4 5 6 7 8 9 10 11 12 21 2 3 4 4] 2.01-24.0{-22.0

%A %A
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% =O=DI 28/4|  8.5|-27.1|-18.6
5| 8.1|-27.6/-19.5
6| 9.9]-25.0[-15.1
7l s.8|-207[-11.9
8| 9.0/-25.6]-16.6
I ol 8.1]-26.0]-17.9
y 0] 7.2[-19.4]-12.2
7 11| 10.1{-16.8] 6.7
. 12| 13.4]-15.4] —2.0
. 20/1] 8.9|-17.7] -8.8
f ol 7.3-21.4[-14.1
Z 3| 11.7]-15.3] 3.6
28/4 910 112 24 2 3 4 g 4] 11.3]713.5] 2.2
@z B
® = =t | 4/8 | s | me ] o
” — 28/4| 4.7|-25.4]-20.7
5| 4.0]-22.5]-18.5
6| 4.0/-27.7]-23.7
7| a3|-16.4]-12.1
8| 4.7]-21.7]-17.0
ol 3.4|-21.0[-17.6
0] 3.6{-17.7]-14.1
1] 61-17.2-111
12| 6.7]-13.8] 7.1
20/1] 3.0]-15.5]-12.5
ol 4.8]-20.9(-16.1
3| 4.4|-16.3]-11.9
4] 6.3]-14.0] -7

9 10 11 12291 2 3 4
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aeiry el /8 |t | e | or

% —o—nI 28/4| 1.4]-18.3]-16.9

5| 2.1]-18.0/-15.9

6| 1.9[-18.9(-17.0

7l 3.4]-104] -7.0

8| 2.9/-18.0[-15.1

e g ; o 25|-17.7]-15.2

g ; f; 10 2.6/-16.9]-14.3

é % ? 11| 2.3(-13.3[-11.0

% 4 5 12| 3.6 9.7 -6.1

ez Z 29/1] 1.9/-14.6|-12.7

ol 3.7[-16.3(-12.6

3| 2.3]-15.2]-12.9

28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 &8 4 3‘7 79‘2 75'5
EROER E/)] | hfdE | Bk | DI

% 28/4| 4.4]-24.0{-19.6

5| 4.2]-24.0-19.8

6| 3.9]-25.4]-21.5

7| 3.7/-18.5|-14.8

8| 3.9]-27.7[-23.8

ol 3.7[-26.7]-23.0

0] 4.0[-23.2[-19.2

11| 4.5(-16.7[-12.2

12| 6.8[-14.5] -7.7

29/1| 5.1|-16.5]-11.4

ol 5.5]-20.3[-14.8

3| 6.6/-15.8] -9.2

4l 73[-111] -3.8

28/4

5 6 7 8 9 10 11

12 29/1 2 3 4
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—27.6
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12.4
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6.5

—24.4

—17.9

6.0

—33.5

—27.5

9.5

—28.3

—22.8

4.7

—28.1

—23.4

6.3

—-30.2

—23.9

4.5

—25.6

—21.1

5.2

—23.5

—18.3

7.5

—21.5

—-14.0

9.2
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—-10.8

6.7
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=O=DI

28/4 5 6 7 8 9 10 1

E O 3

%

12

29/1

R

28/4 5 6 7 8 9 10 1

%A

/A | 4P | Bk | DI
28/4| 3.3|-16.4[-13.1
5| 3.2[-28.3[-25.1
6| 3.3]-25.4|-22.1
7] 3.5[-21.7/-18.2
8] 3.71-22.1|-18.4
9] 3.9]-18.7[-14.8
10| 3.0|-18.0[-15.0
11| 5.6]-17.9[-12.3
12| 7.2|-14.4] -7.2
29/1| 4.3|-17.5[-13.2
2| 3.5|-19.6|-16.1
3| 4.8[-20.7/-15.9
4]  4.8|-17.3[-12.5
F/A | s | Bk [ DI
28/4| 7.3]1-27.1[-19.8
5| 6.7/-36.8[-30.1
6] 6.3[-33.0{-26.7
7] 5.5/-27.1[-21.6
8| 7.4[-29.0]-21.6
9| 6.8[-25.3]-18.5
10| 7.1]-23.7]1-16.6
11| 8.9]-24.2|-15.3
12| 10.8/-21.6]-10.8
29/1| 9.6]-25.3[-15.7
2| 8.5[-23.0{-14.5
3] 10.2]-25.6]-15.4
4| 8.8[-20.7]-11.9




/N e (RTEERLA H)

5 L %E i /8 | s | s | oo B418Y 45 /8 | ot | e | o
0 2 e 28/4| 5.4]-36.6|-31.2 0 % —o-=o! 28/4] 0.8]-22.4[-21.6
5 5.1]-33.6]-28.5 5| 1.4]-25.3]-23.9
2 6| 3.8]-37.5|-33.7 10 6| 0.7]-24.2|-23.5
71 4.1]-34.1]-30.0 71 1.2]-21.5-20.3
- 8| 5.0]-35.0/-30.0 7l T Y 8| 1.0]-24.4]|-23.4
f/: 9| 2.9|-40.8/-37.9 9| 0.5|-27.8|-27.3

10|  3.7]1-39.2|-35.5 10| 0.9]-25.7]1-24.8

11| 6.2)-34.8| -28.6 11]  1.4)-23.9|-22.5

12|  7.51-33.1]1-25.6 12|  1.6/-20.7]-19.1

29/1| 4.2|1-35.4[-31.2 29/1] 1.2]1-21.9[-20.7

2| 3.1]-37.3|-34.2 w0 2| 0.6]-22.9|-22.3

3] 3.9]-32.6|-28.7 3[ 1.0{-20.0{-19.0

-50 4] 4.51-29.71-25.2 -50 4] 1.4]1-21.4]1-20.0
/4 5 6 7 8 9 10 11 12 201 2 3 4 g /4 5 6 7 8 9 10 11 12 201 2 3 4 g

=z Bt

T, e | U1 | s | mik | DI KRDER —wE |/ | bR | (e | DI
% —o=DI 28/4] 1.6[-31.0{-29.4 % ool 28/4] 1.5/-36.5|-35.0
2 5| 1.9/-30.2|-28.3 ? 5| 2.0/-36.2|-34.2
o 6| 1.6[-32.4|-30.8 10 ] 6| 1.2[-36.8]-35.6
7] 1.9/-28.7[-26.8 7] 2.1/-30.0[-27.9
; 8| 1.6[-31.6[-30.0 8| 1.5[-35.7|-34.2
7 9| 1.2[-34.3[-33.1 9| 0.8]-36.4|-35.6
7 10| 1.2]-34.2[-33.0 10| 0.9 -34.6]-33.7
7 11]  2.3]-31.5[-29.2 11] 2.1]-33.5/-31.4
i 12| 2.8-26.1[-23.3 12| 3.2]-29.9]-26.7
29/1] 1.8[-29.9]-28.1 29/1] 1.8/-33.0[-31.2
40 2| 1.4[-31.2]-29.8 2| 1.3[-31.9]-30.6
3| 1.5/-24.8[-23.3 3] 1.2[-31.1[-29.9
o o5 4] 1.8/-29.0]-27.2 s 5 6 7 8 9 10 1 12 21 2 3 a . 4] 1.4]-29.8]-28.4




AN
% Lt %8 it /01 | s [ | o

o 2 —0 28/4| 5.0/ -46.5|-41.5

5| 4.0{-42.6/-38.6

6| 2.7]-43.1]-40.4

- 7] 2.1{-38.1/-36.0

7 8| 2.5|-42.6]-40.1

% 9| 2.1]-48.0[-45.9

f 10| 4.2[-46.3]-42.1

g 11| 7.4[-42.4/-35.0

_ 12| 6.0[-38.2|-32.2

% 29/1| 3.1[-41.9/-38.8

} ol 2.2|-47.7]-45.5

3] 4.1]-38.2[-34.1

-0 4] 2.9]-41.1]-38.2
28/4 6 9 10 11 12 29/1 2 3 4 %A

" e | | s | mee | Dl

% —o—DI 28/4| 1.7]-34.9|-33.2

10 5| 1.3[-37.4[-36.1

— - 6| 1.0/-35.6]-34.6

7 7 7] 1.1{-33.7]-32.6

ﬁ ﬁ 8| 0.7]-37.9]-37.2

% ; 9| 1.4/-38.5/-37.1

g / 10| 1.4[-35.1]-33.7

é ? 11| 2.0[-35.3]-33.3

= 12|  2.5/-31.1|-28.6

29/1| 1.2[-36.2]-35.0

50 2| 0.9]-39.3]-38.4

3| 1.4]-28.2[-26.8

0 28/4 6 9 10 11 12 201 2 3 4 4] 1.5]-37.2]-35.7
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BEERY

Bt
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9 10 11 12 29/1 2 3 4
: ez Bt
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=O==DI
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28/4

5 6 7 8

10 1 12 29/1 2 3 4

£R

F/A | s | Bk [ DI
28/4| 0.9[-24.9[-24.0
5] 1.5]-29.4[-27.9
6] 0.5[-26.3]-25.8
7]  0.8]-24.0[-23.2
8| 0.5[-31.2]-30.7
9] 0.5[-31.2]-30.7
10]  0.7]-25.9[-25.2
11 1.7[-27.7]1-26.0
12|  1.6]-23.3[-21.7
29/1 1.0[—24.6]-23.6
2| 0.5[-27.2]1-26.7
3] 0.71-21.1{-20.4
4] 1.5[-28.4]1-26.9
F/A | s | Bk [ DI
28/4| 1.2[-42.5[-41.3
5| 1.5]/-44.5[-43.0
6] 0.7(-41.7]1-41.0
7] 1.1/-34.7[-33.6
8| 0.7[-46.5]-45.8
9] 0.3[-45.2]-44.9
10] 1.0/ -37.1{—36.1
11|  2.2|-38.4[-36.2
12|  3.8]-36.3[-32.5
29/1 1.9[-40.4] -38.5
2] 1.1[{-39.3]-38.2
3| 1.2]-39.9[-38.7
4] 1.3[-37.4]-36.1
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% L %8 /A | s | v | BEBY g /A | i | e | o
w0 28/4] 5.9|-34.3|-28.4 w0 & =0 28/4] 0.9/-23.7[-22.8
5| 6.9/-28.6]-21.7 5| 1.0]-23.9]-22.9
2 6/ 3.8/-36.8{-33.0 10 6] 0.7]-24.8|-24.1
7] 5.5/-34.2|-28.7 _ B _ 7] 2.0]-21.5{-19.5
8| 6.7/-35.0{-28.3 2 U v A ¥ 7 7 8| 1.6]-24.3|-22.7
9| 4.8{-42.6|-37.8 % . % 9| 0.7/-28.8/-28.1
10| 4.2|-37.9|-33.7 é ? :é 10[ 1.2/-31.8/-30.6
11| 6.9]-33.9/-27.0 @ z 7 11| 1.5[-28.4/-26.9
12| 10.9/-31.8|-20.9 7 - 12| 2.2|-20.7|-18.5
29/1|  5.9/-36.7|-30.8 29/1|  1.6[-24.3[-22.7
2| 4.6[-35.7|-31.1 I 2| 1.1]-24.1]-23.0
3| 4.5/-33.4{-28.9 3| 1.4]-21.7]-20.3
~50 4] 4.8]-28.2|-23.4 50 4] 1.4]-21.5]-20.1
28/4 5 6 7 8 9 10 11 12 291 2 3 4 £H 28/4 5 6 7 8 9 10 1 12 291 2 3 4 =7
s I N
T, e | | | mee | D KRDER e | e el | ] o
% —o—DI 28/4] 1.7[-31.2|-29.5 o ool 28/4| 2.0|-35.2|-33.2
2 5| 3.3|-26.8/-23.5 5| 2.5[-32.2[-29.7
o 6] 2.0[-34.9]-32.9 10 ] 6] 1.2|-37.9|-36.7
7] 2.6/-28.8]-26.2 7] 3.0{-30.6|-27.6
; 8| 2.6[-32.7]-30.1 1 ‘W7l ; ; 8| 2.2|-32.7|-30.5
9] 1.6/-37.2|-35.6 ﬁ . 9] 1.9]-36.0|-34.1
. 10| 1.2/-41.1{-39.9 7 7 10] 0.7]-38.1{-37.4
é 11| 3.6]-39.3|-35.7 é | 11| 2.9|-36.8|-33.9
ﬁ; 12| 4.1|-27.5|-23.4 ﬁ G 12| 3.9[-29.4|-25.5
29/1]  2.3|-31.4]-29.1 E 29/1|  2.1[-34.0[-31.9
2| 2.5[-31.6]-29.1 2| 2.1]-32.8]-30.7
3| 1.8/-27.5{-25.7 3] 0.9]-30.7|-29.8
o 4] 1.6/-30.2]-28.6 e 5 6 7 8 9 10 1 12 21 2 3 a 4] 1.8]-28.4]-26.6

£A %A



A oge % IAHEEM] RiFER A )

%= L+ %8 it /1 | s | v | b EoRY g /1 | gt | e | i
0 2 e 28/4| 5.3]-28.0|-22.7 0 % —o-=o! 28/4] 0.7]-18.2|-17.5
© 5| 4.2[-29.1{-24.9 5| 1.7/-22.3[-20.6
6] 4.8]-32.2|-27.4 10 6| 0.8]-21.2|-20.4
20 71 4.7/ -29.3|-24.6 71 0.6/-18.7]-18.1
8| 5.9]-26.3]-20.4 2 ZI’ / 8| 1.1/-16.7|-15.6
9| 1.6/-30.4|-28.8 / 9| 0.3]-22.8]-22.5
10| 2.7]-32.3/-29.6 f 10| 0.6]-18.5/-17.9
11| 4.0]-27.4|-23.4 /, 11| 1.1]-14.8[-13.7
12| 5.2|-28.8|-23.6 12| 1.0/-17.9/-16.9
29/1|  3.6/-26.7] -23.1 %0 29/1| 1.1/-16.4|-15.3
0 2| 2.2|-27.7|-25.5 I 2| 0.3]-16.8/-16.5
50 3] 3.0/-25.4[-22.4 3] 1.0/-17.0[-16.0
-0 4] 5.8[-18.9]-13.1 50 4] 1.2]-13.7]-12.5
28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 £H 28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 =
it JE N
T, e | | s | mee | Dl KRDER A R P e I
% —o=DI 28/4| 1.3[-26.5-25.2 % ool 28/4] 1.3]-31.3[-30.0
2 5| 1.2]/-26.2]-25.0 ® 5| 2.0/-31.3]-29.3
o 6| 1.8]-25.8]-24.0 20 | 6| 1.8/-30.0[-28.2
7] 2.1]-22.7[-20.6 o | 7] 2.1]-24.0{-21.9
0 ; 8| 1.6/-22.9]-21.3 _ 8| 1.6/-26.6]-25.0
» 2 9| 0.3]-26.4]-26.1 7 9] 0.3]-26.9]-26.6
ﬁ 10| 0.8]-25.3| -24.5 . 10| 0.8]-27.6|-26.8
20 11| 1.4[-18.6/-17.2 . 11| 1.1]-24.4[-23.3
12| 1.8]-18.8|-17.0 ? 12| 1.8]-23.4|-21.6
0 29/1|  1.8[-21.1/-19.3 29/1| 1.3]-23.6|22.3
w0 2| 0.8[-22.0[-21.2 o 2| 0.5[-22.6]-22.1
3| 1.3/-18.0{-16.7 3| 1.6/-21.7]-20.1
o 4] 2.2|-18.9]-16.7 s 5 6 7 8 9 10 1 12 21 2 3 a 4] 1.2]-23.1]-21.9
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28/4

%

12 29/1 2 3 4
%R

Bk
CFER
== D]

28/4

5 6 7 8

12 2901 2 3 4
%A

Y —E 23 (HIER A k)

/A [ | s | DI
28/4| 8.5[-27.6[-19.1
5] 6.2|-27.8[-21.6
6] 4.8[-28.6]-23.8
7] 6.3 -28.5[-22.2
8| 7.1[{-24.9]1-17.8
9] 4.0{-29.6|-25.6
10]  4.4|-27.7[-23.3
11| 5.8]-27.6[-21.8
12| 8.7 -23.7[-15.0
29/1| 5.2[-32.2[-27.0
2| 4.9[-27.9]-23.0
3| 6.8]-26.4[-19.6
4] 9.0{-21.3]-12.3
F/A | s | E k[ DI
28/4| 4.8[-18.8[-14.0
5] 3.1|-21.3[-18.2
6] 2.4[-21.1]1-18.7
7] 3.3]-21.9[-18.6
8| 4.1[-19.6]-15.5
9] 2.1{-22.4]-20.3
10]  2.1/-20.1{-18.0
111  2.51-21.9[/-19.4
12| 4.3|-17.9[/-13.6
29/1| 2.4[-22.2[-19.8
2 2.1{-21.1]1-19.0
3| 3.2|-18.6[-15.4
4]  4.6[-17.7]-13.1

20

20

BEEiBY E/)] | hfdE | Bk | DI

% 28/4| 2.5/-15.5[-13.0

5 1.1[-19.3]-18.2

6| 1.4|-16.9|-15.5

70 2.0[-15.1{-13.1

8| 2.4|-13.2|-10.8

9] 1.0|-17.6|-16.6

10| 1.4[-14.7]-13.3

11 1.7[-17.1]-15.4

12| 2.5[-11.8] -9.3

29/1| 1.2|-15.5/-14.3

2| 1.3]-16.0|-14.7

3| 2.0[-14.8]-12.8

28/4 5 8 9 10 1 12 29/1 3 4 e 4 2.8|-13.4]-10.6
E£RDER gt [ e ] o

% =0 98/4| 4.8 -23.6|-18.8

5| 3.2[-27.4[-24.2

6| 2.3]-26.9|-24.6

7| 3.4[-25.0]-21.6

5 8| 4.0]-24.8]-20.8

? 9| 2.2|-27.1/-24.9

? 10|  2.5[-25.1|-22.6

f 11|  2.9]-26.9]-24.0

; 12| 5.2[-24.0{-18.8

“ 29/1|  2.8]-24.8{-22.0

2| 2.6]-23.6|-21.0

3| 3.0[-23.3]-20.3

4|  4.5]-19.2|-14.7

28/4

5

12

29/1

%R




Y—e 2 [rtE] RFEFA )

= ﬂ‘ﬁ/]\ s 3. o .
% L %8 —wm 4/ | s | b | DI BE&aY /1 | fia | Bk | DI
o =0=DI 28/4| 14.1|-28.8|-14.7 o % 28/4|  4.8]-20.9]-16.1
5| 11.3[-30.6{-19.3 5| 2.6/-22.9]-20.3
6| 7.6/-35.4]-27.8 i 6] 2.6/-23.3]-20.7
7] 12.3-28.5(-16.2 7] 5.6/-17.3]-11.7
u 8| 15.6]-22.7] 7.1 = 8| 6.6/-13.2] 6.6
é 9| 7.9/-28.7|-20.8 9| 2.5/-17.9|-15.4
e
% 10| 7.0|-28.5|-21.5 ? 10| 2.9|-18.4|-15.5
. 11| 10.0]-30.7| -20.7 % 11| 3.5|-18.9|-15.4
7 12| 14.1|-27.1/-13.0 o— Z 12| 5.1|-13.2] -8.1
29/1| 8.4/ -34.6| -26.2 29/1| 1.9]-20.5|-18.6
2| 9.5[-30.9|-21.4 =30 2| 3.2[-20.2|-17.0
3] 10.5|-24.5[-14.0 3| 3.5/-17.4[-13.9
40 4] 13.1]-21.1] -8.0 0 4] 4.71-17.0]-12.3
28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 £5 28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 %A

- ez Bt . i
® ®H e | | 4/ | fpds | Bk | DI ($R0ER = /8 | s | B4k | DI
o el 28/4] 8.5|-23.9|15.4 0 % . 28/4] 10.7)-23.3]-12.6
5.8|-28.2 -22.4 6.7) 295 -22.8
4.0|-28.4] -24.4 5.1]-31.2] -26.1

8.71-24.11-15.4

10.11-19.1] -9.0 11.71-23.4]1-11.7

5
6
7] 7.1[-25.9]/-18.8
8
9

O [0 | |[& |O1

4.9[-26.5[-21.6 5.3| 27.5| -22.2

=

10] 4.0|-26.6] -22.6 10 5.31-26.4| -21.1

2
—_
—

4.4]1-29.1|-24.7 11] 6.3 -30.3]1-24.0

12|  8.4]1-21.4]1-13.0 12| 10.3]-25.6|-15.3

29/1| 4.3|-25.8[-21.5 29/1| 5.5|-26.2[-20.7

2] 5.5]-25.2[-19.7 2] 6.71-24.8[-18.1

3| 5.7[-21.3/-15.6 3] 5.8[-21.9]-16.1

28/4 5 6 7 8 9 10 11 12 29/1 2 3 4 4 76 _217 _141 28/4 5 6 7 8 9 10 1 12 29/1 2 3 4 4 84 _200 _116
£R £R
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28/4

%

%A

Bk
CFER
== D]

28/4

%R

o

DI

6.4

—23.1

—16.7

9.5

—25.5

—20.0

4.3

—24.9

—20.6

4.5

—-30.6

—26.1

3.3

—26.3

—23.0

3.4

—-30.6

—27.2

3.7

—26.9

—23.2

4.5

—25.4

—20.9

9.5

—20.2

—14.7

2.8

—31.4

—28.6

2.2

—27.1

—24.9

5.3

—29.2

—23.9

7.7

—-18.0

—-10.3

G iR

4

DI

2.8

—14.7

—11.9

2.8

—-18.0

—15.2

2.0

—21.7

—19.7

1.7

—23.9

—22.2

1.5

—23.8

—22.3

1.6

—24.4

—22.8

1.1

—17.9

—16.8

1.4

—21.4

—20.0

1.8

—-19.3

—17.5

1.1

—24.4

—23.3

0.3

—21.9

—21.6

2.0

—20.0

—18.0

4.0

—-15.3

—11.3

P—bR¥E [/)—=27]

%

(AITAEIRLA )

G iR

4

DI

1.3

—-14.0

—12.7

28/4

%

%A

28/4

%R

0.6

—-18.4

—17.8

1.3

—15.8

—14.5

0.3

—18.2

—17.9

0.8

—16.2

—-15.4

0.3

—21.8

—21.5

0.8

—-15.5

—14.7

1.1

—-19.3

—18.2

1.0

—-12.9

—-11.9

0.8

—-15.3

—14.5

0.3

—14.9

—-14.6

0.5

—15.8

—15.3

2.0

—-10.1

8.1

G iR

4

DI

2.2

—22.9

—20.7

1.7

—29.9

—28.2

1.3

—26.2

—24.9

0.6

—29.2

—28.6

0.5

—28.0

—27.5

1.1

—31.7

—-30.6

0.8

—27.0

—26.2

0.8

—29.2

—28.4

2.0

—26.4

—24.4

1.1

—24.9

—23.8

0.8

—23.5

—22.7

1.7

—25.5

—23.8

2.7

—-15.3

—-12.6
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28/4 5 6 7 8 9 10 11 12 2971 2 3 4
%R

o 2228 b
B B 3785
% —0—DI

28/4 5 6 7 8 9 10 1 122971 2 3 4
£R

Y—ex [H-LA5] (FiERA L)

/A [ | s | DI
28/4| 5.5[-30.7[-25.2
5| 2.5/-27.6[-25.1
6] 2.7(-25.9]-23.2
7] 2.5]-26.7[-24.2
8| 3.2[-25.5]-22.3
9| 1.4[-29.5]-28.1
10]  2.8]-27.7[-24.9
11]  3.5]-26.8[-23.3
12|  6.8]-23.7[-16.9
29/1| 4.5[-31.0[-26.5
2] 3.1{-26.1]-23.0
3] 5.0[-25.3[-20.3
4] 6.6[-24.6]-18.0
F/A | s | E k[ DI
28/4| 3.3[-18.1[-14.8
5] 1.0[-18.4[-17.4
6] 1.4[-14.1]1-12.7
7] 1.5]-16.6[-15.1
8| 1.3[-16.2]-14.9
9] 0.3[-17.1]-16.8
10]  1.4|-16.4[-15.0
11 1.9[-16.1]-14.2
12]  3.1/-13.9/-10.8
29/1| 2.0[-17.2[-15.2
2| 0.9[-16.9]-16.0
3| 2.2|-15.1[-12.9
4] 2.6[-16.5]-13.9

%

G iR

4

DI

1.7

—12.2

—-10.5

28/4

%

E LHOE 3

%A

%R

0.3

—-17.0

—16.7

0.5

—12.4

—-11.9

0.3

—-10.4

—-10.1

0.3

—-10.6

—-10.3

0.3

—13.8

—13.5

0.5

—-10.9

—-10.4

0.7

—13.5

—12.8

1.6

-9.5

7.9

0.9

—-11.6

—-10.7

0.7

—13.3

—-12.6

2.0

—11.8

-9.8

1.8

—13.3

—11.5

G iR

4

DI

2.0

—24.5

—22.5

1.5

—23.4

—21.9

0.7

—23.7

—23.0

1.3

—22.1

—20.8

0.5

—23.2

—22.7

0.7

—22.8

—22.1

1.4

—22.4

—21.0

1.9

—22.1

—20.2

3.8

—20.6

—16.8

2.0

—23.4

—21.4

0.7

—22.7

—22.0

1.8

—22.5

—20.7

2.8

—21.9

—-19.1




